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Question No. 1 is compulsory . Attempt any three ques-
tions from the rest. Use of non-scientific calculator
is permitted. Financial tables be provided.

1. Explain each of the following statements _stating
whether they are true or false : ‘

(a) Time value of money is the hallmark of all
discounted cash flow techniques.

(b) Cost of equity is always less than cost of retained
earnings.

(¢) Profitability and liquidity are inversely related.

(d) MM model deals with irrelevance of d:wdend
decision.

(e) InNOI approach, K;and K, are taken as constant.
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What is weighted average cost of capital? Where is
it used?
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There are two mutually exclusive projects under

active consideration of a company. Both the

projects have a life of five years and have initial

cash outlays of Rs. 1,00,000 each. The company

pays tax at 50% rate and required rate of return of

the company is' 10%. The straight line method of

depreciation will be charged on the projects. The

projects are expected to generate a net cash inflow -
before taxes as follows :

Year |Project X (Rs.) | Project Y (Rs. )
1 40,000 60,000
2 40,000 33,000
3 40,000 20,000
4 40,000 50,000
5 40,000 50,000
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With the help of the above given information you
are required to calculate ;
(i) The payback period of each project.
(i) The NPV for each project.

Which project should be accepted?

(PVF 10% 0-9091, 0-8264, 0-7513, 0-6830),
0-6209)
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(PVF 10%, 0-9091, 0-8264, 0-7513, 0-6830,
0-6209) 10

What is financial break-even point? How can it be
calculated?
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The following data relate to two companies
belonging to the same risk class :
Particulars : XL YL
. |[Expected pet opera- Rs. i
ting income .| Rs.2,00,000 | 2,00,000
10% Debit - . Rs. 5,00,000 -
Equity capitalization
rate - 20% 12-5%

You are required to calculate :

(i) Total value and the weighted average cost of
capital for each company assuming no taxes.

(i) Show the arbitrage process by which an
investor who holds 10% €quity shares in Y
Ltd. will be benefitted by investing in X Ltd.

(i) When will this arbitrage process come to an
end?
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4. (a) Why do firms follow a policy of stable dividends?
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() Using the following data :

Earning per share - ' Rs. 12
Equity capitalization rate 20%
Internal rate of return 16%

find the market price of a share using Gordon
model if retention ratio is :

G 75%
(ii) 25%.
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5. Calculate the amount of working capital requirement
for XYZ Ltd from the following information :

Rs. (Perunit)
Raw Material 160
Direct Labour 60
Overhead : 120
Total cost 340
Profit ' _6_(_)_
Selling Price 400

Raw material are held in stock on an average for one
month. Materials are in p'roce:ss on an average for
half-a-month (50% completion). Finished goods are in
stock on an average for one month.

Credit allowed by suppliers is one month and credit
allowed to debtors is two months. Time lag in payment

of wages is 1

1

5 weeks. Time lag in ﬁayment of overhead
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expenses is one month. One fourth: of the sales are
made on cash basis. Cash in hand is expected to be Rs.
. 50,000 and expected level of production amounts to
1,04,000 units for a year of 52 weeks. You may assume
that production is carried on evenly throughout the -
year and a time period of four weeks is equivalent to a
month.
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